1.

OABCD 7} At o]al, AE = BF = A H,D
CG =DH ¥ U], oEFGH & T 3JAH T o] E
ot o2 5 24 42 AL

@O AAEH = ACGF ® ADGH = ABEF
® EF = HG @ EH=AH

® (EFG = (EHG



2. AABCCOADEF©]1, §-3H|7} 7: 4 o, ADEF 9] E3|9] Zo|7}
24cm =FaL ik, o] W), AABC 9] E2)¢] Fol=?

@ 14cm @ 28cm ® 35cm @ 42cm ® 56cm



3. ohg J%lelH AD//BC. AB/DEL W, % % x. vl F 0l 32
Fo?




4. & 12914 BC//DE € W, x +y ©] g7

D 115 @ 12 ® 135 @ 14 ® 145



@O AADE @ AABE

@ DE//EC

® AADE = %AABC

@ AABC ¢t AADE 9] §3H]=2:1 o]t}

® BC:DE=1:2



wol7F 75cm? Q1
2| 9] yo|=?

® 90 cm?

@ 147 cm?

2 EE 140% Sf EAfsta 1L St

@ 105cm? ©)

® 150 cm?

127 cm?



ofr

=dal eteh o] W, Az RtEE AawA| o] RA 272

—_————_——-

@ 3

O 2



¥z}

7P O - ABC 9|4 ADEF & %5
ol A= FYS u, x + 4y o BL27

1 @ 15 ® 19



£hg TR 22 AABC 4 AB ¢ 45 EHE D, EAC 9 4L
F 2 513 DFOIBC ] 9441e] 24& G 2t 57 BC = 12em
o, FG € Zeol?
A
D,
E
\
1%cm
B = G

@ 16cm @ 18cm @ 20cm @ 22cm ® 24cm



10. o2 I9A H G, G’ & 47 AACD ,
ADBC 9] A5 Aoltt, AB = 27cm &
o, GG’ o] Zdo]& F5HH?

® 9cm @ 10cm @ 1lcm

@ 12cm ® 13cm



=4
10km o] £ o2 & uff dej= AR Fotd?
= ® 308 @ 358 @ 40 & ® 45 &



@ 12

® 13



13.

A




14. & 283 e AAZEE ABCD oA /B 9] o]5E Ay AD 7t
e A8 Egt g o, AE : ED=3:1, AABE 9] §o]& 72cm?
o|t}. o] wf, DEBCD 9] ¥ o|=?

A E D
B C
@ 120cm? @ 128cm? ® 132cm?

@ 144cm? ® 160cm?



15. o2 1383 &2 AAZS ABCD 9|4 BD 7} tiZt4l o)1l /DAE =
20° 4 o, /BEC 9] 327]&?

A D
20° 1D

F

B C

@ 55° @ 60° ® 65° @ 67° ® 70°



